
Answer on Question #47461-Engineering-Other 

Two large horizontal metal plates are separated by 𝑑 = 4 𝑚𝑚 = 4 ∙ 10−3𝑚. The lower plate is at potential 

of 𝑈0 = −6𝑉. What potential should be applied to the upper plate to create electric field strength of 𝐸 =

4000
𝑉

𝑚
 upwards in the space between the plates? 

Solution 

The electric field points from regions of higher potential to regions of lower potential. Since electric field is 

upwards, therefore upper plate is at lower potential than the lower plate. 

Let the potential of upper plate is 𝑈. 

Magnitude of potential difference between the plates is 𝑈0 − 𝑈. 

𝐸 =
𝑈0 − 𝑈

𝑑
. 

The potential of upper plate is 

𝑈 = 𝑈0 − 𝐸𝑑 = −6 − 4000 ∙ 4 ∙ 10−3 = −22 𝑉. 

Answer: −𝟐𝟐 𝑽. 
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